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Candidate must write first his / her Roll No. on the question paper
compulsorily.

Tt wgm arfem € |

All the questions are compulsory.

T 9 1 I & g I-Yeent | @ o |

Write the answer to each question in the given answer-book only.

5 gl § sraftes @oe g, 37 a9t & I T |9y @ o)

For questions having more than one part, the answers to those parts are to
be written together in continuity.

U UF % &<l 9 TS SUR § R R R g / o / ooy gn W @
| <k T i E FE T

If there is any error/difference/contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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6) 1) IE I U= 3 @uel | fauws g - 31 iR
i) w@ug ‘e |t oEl & foru sifard 21
i) WUE ‘&’ % I WA, Ik WA H Tra g9 | vdteneff A frht v v & weft v gwAt
W TA w2
1)  This question paper contains two Sections - A and B.
1) Section 'A' is compulsory for all candidates.
i) Section 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only a set of seven questions of any one portion.
7) w@ug 9 HE& 37k Tk T
;A 1-8 1
9-14
15-21
22-23

AN B~

q 24-25
26-27
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30

(@) W SN NS I
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Section Q. Nos. Marks per question
A 1-8 1

9-14

15-21

22-23
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B 24-25
26-27
28-29

30

(@) W AN NS I

OR
24-25
26-27
28-29
30
8) Uy wEA 22 (Wug-31) aun 30 (Wue-a) | ek faheu E)
There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).

(@) W SN NS I
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1)

2)

3)

4)

5)

6)

3
e - A
SECTION - A

At Ui o AT U AR & da 1 =1 e 2| [1]
What is the provision for salary to the partners, in the absence of Partnership
deed?

TEUT T WA 4 : 2 3 U § H-g et g2t Teier 21 32 % fRstRT s
w1 o oW T g sron fEen gt @ wum srguT | ure it @ -1 ST <6 o
R [1]

Taruna and Bhavna are partners with sharing profit and loss in the ratio of 4 : 2.

They admitted Pooja into firm for %rd share. Pooja received her share equally

from both calculate new profit & loss ratio.

HOA A 7Y 5 3 %k U H W AHSH St gt U WH H HIRER ¢, SiH W i R
HISER ST 3T 741 AH—gMH 3199 4 : 2 : 1 Fivea e =, at a6 9 9 &1 &
AT T Hife | [1]
Mamta and Manu are partners in a firm with sharing profits in the ratio of 5 : 3.
They entered Rekha as new partner. Their new profit-loss sharing ratio is decided
4 : 2 : 1. Find out sacrifice ratio of Mamta and Manu.

Tt 3TUTA & T AT § 18 o o feifu) [1]

Write any two difference between gain ratio and sacrifice ratio.

T o T W 3T T T 27 1]

What do you mean by dissolution of firm?

1y) fafiee A wiae fafies @ T 6,00,000 § vek AYia @d vd ary) fafee 3 X 10 gea at
50,000 T 3i9i F 20% e T et e B TR 3g T R, i T wS B
Tferfee SR [1]
Yaashu Ltd. purchased a machinery from Goyal Ltd. for ¥ 6,00,000 and Yaashu
Ltd. issued 50,000 equity shares @ X 10 each at 20% premium for payment to
Goyal Ltd. Give entry for issue of shares.
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7) e fafiee 3 20,000 39T St AR A 3g Sfarer It femanl 30,000 siet & fote siftem
T gl 24,000 30 ok SAeehi Sl AU s o afe Twiw R 400 3w sveifed TR @
| Sk g Srafea 39T it TEn JE A [1]
Krishna Ltd. issued prospectus to issue 20,000 shares. Subscription received for
30,000 shares. Prorata allotment is made to applicants of 24,000. If 400 shares
were alloted to Rajesh, calculate No. of shares applied by him.

8) WY UEH H AHUA Hd gAT 8 ? [1]
When dissolution of the Joint Venture is happen?

9) IR, THAMATHEHY 5 : 3 : 2 & U U -1+ =ied 21 3R 31 et 2018 =i 3rawmn
Tgul et 21 3@ fafer o8 vl o fug o e o 9w 30,000 den - @ w6 Sfee o
X 15,000 2m
TR o STERIIT ALUT TR WiId 141 o a1 ol SUTIRId i g St Urateedt gl [2]
R, S and T are partners in a firm sharing profits and losses in ratio of 5 : 3 : 2.
R retires from the firm on 315 March, 2018. The Balance Sheet of the firm showed
a balance of Reserve ¥ 30,000 and Dr. Balance of Profit & Loss account
X 15,000 on that date.
Make Journal entries for writing off accumulated profits and losses.

10) dt, o 3R TR Uk &H H TIRR 2 S 3 : 2 : 1 & 31U U enw-gi fawrem wa 1wl fi
e wfied 31 e e R 31 1S 2015 R v & vt e e 31 3 1 A
2015 =t T T wEmEs ® wH A T 2,40,000 1 AT FHHET| e a6 | 18 Taa i ge
H 25% 3fereh g ht AHTEHT g1 STRId JgUT i oy i <o) A o o § Wt @ e s
FHiRT q2n @ @it 97 oW S yfafe wicw| [2]
P, Q and R partners in a firm sharing Profit & Losses in the ratio of 3 : 2 : 1.
P retires from the firm on 1* July 2015. The firm closes its books on 31%* March
each year. The firm earned a profit of X 2,40,000 during the previous accounting
year ended on 31 March, 2015. It is estimated that current year's profit would be
25% more than previous year.

Determine the share of P on the date of retirement in the current year's profit, also
make journal entry for profit given to P.
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11) T, aiEawE3 : 3 : 2 o ST | @19 Fied 21 e & g g W Hger S diferet st Twhon
Tea X 1,60,000 veht 1w, uiferedt @ wierss # geaent ® 7@ o g aun wiosy ® 99 |Eier
Y SIER—SRTER FieAT a9 Tl 2| FH i JEaehi | Tavas SiHel Urare /gfaftedt it afe
iftrem it smuTiies @ a2l 2]
X, Y and Z are partners sharing profits in the ratio of 3 : 3 : 2. The surrender value
of joint life policy is X 1,60,000 on the date of retirement of Z. It is decided that
joint life policy will not appear in balance sheet X and Y decide to share future
profits equally. Give necessary journal entry/entries in the books of the firm when
premium treated as trade expenses.

12) feufa foeror & ‘o= wa anferem’ sides o s foreht M arelt =R we foRaa [2]

Write four items under the head of 'Reserves and Surplus' of Balance Sheet.

13) ek gea @l wuE| 2]
Explain Cash Equivalents.

14) Tge 91EH Heieht SegRi i oRan WA 6 faftet sared) [2]

State the methods of accounting for Joint venture transactions.

15) == SR gehw 3 | sadt 2016 v semsn: T 2,000, 20,000 Fr Ysht o w1 AR w1 I
il 1 | 2016 it 71 A X 8,000 6t stfaie Ustt ol 39 fa gohwr 3 S7ot uSlt |
% 6,000 Fe gedt 3 1 erE 2016 st T 30,000 6t Uit o @il vl & waw foran| 36 fam
TS 3R gohwt shmn: X 12,000 3R T 10,000 i sifafiar Uit ot snw—gii dsit s1qum
# fawtora fora St 219 2016 % @ X 59,600 2| gt TMUTT 3t g4 e TS g et ame
ATl [4]
Manoj and Mukesh started a partnership firm on 1% January, 2016 with a capital of
X 2,000 and X 20,000 respectively. On 1% March 2016 Manoj introduced additional
capital of X 8,000. On that day, Mukesh withdrew X 6,000 from his capital. Murli
entered in the firm on 1% July 2016 with a capital of X 30,000. On that day Manoj
and Mukesh introduced additional capital of X 12,000 and X 10,000 respectively.
Profit-loss are distributed in capital ratio. The profits for the year 2016 were
X 59,600. Prepare P&L Appropriation Account by giving detailed calculations.
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16) <1 & &1 Uk W | EEiER 21 31 " 2015 @ wEert @ gt s T 4,00,000 |
3 2,00,000 § @2 @R T 90,000 21 3&h fafr @t w3 wwmom W wwfaEl o aael gea
< 3,60,000 2| gt @rar sHTEe| [4]

Sanjana and Ranjana were partners in a firm. On 31% March 2015 capital of the
partners are X 4,00,000 and X 2,00,000 respectively and creditors worth X 90,000.
Realisable value of Assets is X 3,60,000 on the same date, at the time of dissolution
of the firm. Prepare Realisation Account.

17) Tz iR Tger FUS & A kg A gg FYH Aed | TV A g SR w-giH 3 0 2
31quTa ¥ e @ g wa 21 afga 3 T 50,000 & wug @digr aun T 500 wrer, X100 s
=3, T 400 St wret aen < SOOWW%WIT@F@ T 30,000 & wue wie, T 200
g fertra, 100 i, T 100 T wret 3 g A 1 9 Fwae X 60,000 # qon vge
3 9w et X 38,000 A s feem Afa i geaent A g AEE @I 9 TEe 1 @ s 1 [4]

Rohit and Rahul entered in Joint venture to purchase and sales of cloth and decide
to distribute profit or loss in 3 : 2 ratios. Rohit purchased cloth X 50,000 and paid
X 500 Freight, X 100 Insurance Expenses, X 400 carriage and X 300 sundry
expenses. Rahul purchased cloth X 30,000 and paid X 200 godown rent, X 100
insurance premium and X 100 carriage. Rohit sold part of the cloth for worth
X 60,000 and Rahul sold remaining cloth for X 38,000. Prepare Joint Venture
Account and Rahul's Account in the books of Rohit.

18) frfera w fewuft ferfRaw - [4]
) A wHYE
i) ufeny wHE

Write the notes on following :
1)  Ordinary / General commission.

i) Del-Credere commission.
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19) wiEen 2gd I gEfd =t & 5,000 9 T 1,200 ufe dror eTa W A5 Jer 286 Sl St W
o qear X 50,000 ¥ewret gl "t § 200 9o Ot @ ™ e o S e |
X 1,80,000 qr@ % Wi g TWve 3 WS WA ht g o qen X 27,000 I qwn
% 8,000 feuht =@ & gwm| 39+ 4,250 dia T 1,500 ufa dian & 1 @ o= o2 aen fasht w
R 50 wfa dien v age foram| sramra 7if, aen form fork weien & wifvr &t o s g2
ek <l YEehl § YT @t s [4]
Sankhla Traders consigned 5,000 vegetable oil tins @ X 1,200 per tin at cost to
M/s. Megha Traders and paid railway freight X 50,000. In course of transit, 200
tins was theft. A sum of X 1,80,000 is received from insurance company as a
claim. Agent took delivery of remaining goods and paid X 27,000 for octroi and
R 8,000 as selling expenses. He sold 4,250 tins @ X 1,500 per tin and charged
R 50 per tin as commission on sales. Prepare consignment account in the books of
consignor, with calculating amount of unsold stock and abnormal loss.

20) Fifera geral @ i Te e @t 31 ard 2010 @ FE 2 are el [4)

L

TR ke I 40,000
HERY AT 2,00,000
<=1 are feRan 4,00,000
forsrett forett o s foren 80,000
femtran T 4,000 wiféres, o & R 11 Aig o oA fehan

FIRIER Tohe W A TR 2,00,000
ST YA 76,000
™ A A e 1,00,000

Prepare Receipts and Payments Account for the year ending 31% March, 2010
from the following information.

Rs.

Cash-in-hand opening 40,000
Donation received 2,00,000
Subscription received 4,00,000
Paid for electricity bill 80,000
Rent X 4,000 p.m. actually paid for 11 months during the year

Purchases of computer in cash 2,00,000
Honorarium paid 76,000
Purchases of machinery from Ram 1,00,000
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21) Frifera uei i sma-=oa @ g g o guis - [4]

i) adiEa | g afn X 50,000
i) ey | g = X 25,000
iil) e T S TR TGN X 5,000
iv) w&w 3k < 20,000 (50% feemn dsirm arm s

V)  SASiad SeErdn Yok < 40,000
vi) | | e fem X 2,500
Show the following items in Income and Expenditure Account and Balance Sheet -
i)  Amount received from Legacy X 50,000
ii)  Subscription received in current year X 25,000
i) Outstanding subscription of current year X 5,000
iv) Entrance fees X 20,000 (50% part should be capitalised)

v) Life membership fees X 40,000
vi) General Donation received X 2,500

22) | A A 3REI: 3:2 % U H W died g |geR 21 31 " 2012 @t em gt e

TER 2 [6]
fagt (31w, 2012)

R T et S
[CE AT 7,500 | Tws 9,750
A H 4,500 | I;|ER 15,000
- @ 3,000 | =ew@: w3 6.000| 9,000
AEERl % YSit Em wiw 22,500

. 30,000 | wHAteR 9,750

14 15,000 | wfa 9,000

60,000 60,000

AT 1 3B 20129 % W o TeTT 37 Tl WX o9 3t ¢ foh g orue it 1 et o forg

SR T AR A g v ol o fored o 5@ e B e e 1

Tyt @t <o) v it Tt R gerEieR A A SNt o SiEd @Y % 61 A o SR W A
@mﬁﬂmmélﬁaﬁ%mm: T 15,000, T 8,300 g aem T 25,000 21 3mt
T ot 7a foran ST @ R g w0n 3 @t < 2,000 T TeTn W, Wit S YA
T 30,000 = feram S, weter st X 7,500 e 92 S a0 e @ < 2,000 7 stfia
ama X 500 geaeht ® o S| i gEdent # G @11 9 AR o Uslt W e |

YA
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3, 9 U9 | Gl A SHad W R 91 31 | 2015 & wd @ fagt e wer ey [6]

31w 2015
ElR] 3 Trfeat 3
wER 13,500 | TEE ks 5,900
AT ol 12,000 | =R 8,000
e /T 5,000 o 11,600
dht T e 23,000
3T 15,000 Tt 15,000
s 10,000
q 8.000 33,000
63,500 63,500

1 38 2015 <At I TERII UZUT AT 21 a2 38 T = oy foa & -
) weRwmgea X 7,000 | agw 2l
i) fafaw ERi W 5% 9 | dfay Hwun & oo smEem w5 2)
iil) o <A Tt B gediea X 18,000 W TR | =g oft fvea feman e fok @ sraewm
TZUT o UYETd oREl JEiehl § AT Tl fqemet et
iv) 5,000 & st T YTAH 3R I 6k /0T WA § ARG Bt a1 T |
e Y gl # AT T, WEiER & e e qen fg aea
Sonu and Monu are in partnership sharing profits in the ratio of 3 : 2. Their Balance
Sheet as on 315 March 2012 is as follows :
Balance Sheet as on 31% March, 2012

Liabilities Rs. | Assets Rs.
Creditors 7,500 | Cash 9,750

General Reserve 4,500 | Debtors 315,000
Profit & Loss Account 3,000 | Less: provision% 6,000 9,000
Partner's Capital A/c Stock 22,500
Sonu 30,000 | Furniture 9,750
Monu 15,000 | Goodwill 9,000
60,000 60,000

They decided to admit Tonu on 1% April 2012 for %rd share, with the term that he

has to pay cash into the business for his share of goodwill and sufficient capital to
give him a one third share of the total capital of the new firm. The goodwill of the
firm is adjusted by valueing it at two years purchases of the average profits of the
last three years, profit or loss for these years being : X 15,000, X 8,300 (Loss) and
X 25,000. It was further agreed that the provision for Bad debts be reduced to
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23)

10
X 2,000, that the stock be revalued at X 30,000, that the furniture be reduced to
X 7,500 and outstanding expenses X 2,000 and accrued income X 500 to be
brought into books.
Prepare Revaluation account and partners capital account in the books of firm.

OR
The partners A, B and C were carrying on business. The Balance Sheet of the firm
as at 31% March 2015 was as under.

Balance Sheet as on 31% March, 2015

Liabilities Rs. Assets Rs.
Creditors 13,500 Cash in hand 5,900
General Reserve 12,000 Debtors 8,000
Bank loan 5,000 Stock 11,600
Capital A/c Building 23,000
A 15,000 Goodwill 15,000
B 10,000
C  8.000 33,000
63,500 63,500

B retires on 1% April 2015. The following decisions were taken at that time -

i)  Value of building is increased by X 7,000.

i) Provision for Bad Debts @ 5% is made on Sundry Debtors.

i) Goodwill is valued at X 18,000 and it is also committed that after retirement of
B it will not shown in the Books.

iv) Payment made to B X 5,000 immediately and balance is transferred to his loan
account.

Prepare Revaluation account, Partners capital accounts and Balance Sheet in the

books of firm.

femiy f. 3 T 10,00,000 % 9% worast o fefem e wer T - [6]

)  ¥5,00,000 % 9% oot 10% g W The & foru)

i) wefe ® T 2,25,000 w3 53 i, 36k Afawereaey et < 2,50,000 3ifehra g
&% 9% o Frifia R

i) & & T 1,25,000 @ w01 foren| wooieies ufayfa & w9 @ &% & um < 2,50,000 &
9% SHUTAA THT HE |

femtiny Fo1. 1 R e itz SRR
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11
Himanshu Ltd. issued 9% Debentures of X 10,00,000 as follows -

i) 9% Debentures of X 5,00,000 at 10% discount for Cash.

ii) A machine of X 2,25,000 purchased from Sneha Ltd. For the consideration
of it, 9% debentures were issued with a nominal value of ¥ 2,50,000.

i) Taken a loan of ¥ 1,25,000 from Bank and deposited to the bank 9%
Debentures of X 2,50,000 as collateral security.

Give Journal entries in the books at Himanshu Ltd.

Que - 9
SECTION - B

TS F & G W 2, Tk W | E1d U9 g qdrerierat <t fordt ueh Wit < |a T9At il gt et
2l

Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) vl A T A A i) [1]
Write formula for calculating Trend Ratio.

25) afe Rt =il 20,000, g w2 X 50,000, vee =@ X 5,000 2, aun 3ifm wiw
T 22,500 3 @ < T A S AR 70 | [1]
If opening stock X 20,000, Net purchase X 50,000, Direct Expenses X 5,000 and
closing stock is X 22,500 then calculate cost of goods sold.

26) TAETERR g 1 I TE1Ea| [2]
Make proforma of Common Size Balance Sheet.

27) frafaRaa gumet @ wwa oy v 3¢ fosra & afdt s fifkro - [2]

i

arfet 1,50,000
3itea Wik 70,000
ek TEd AT 4 times
ER 40,000
IEERR ] AT gea ° 20% 3tferes
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Find out Gross Profit and Net Sales from the information given below :

Fixed Assets
Average stock
Stock Turnover Ratio

Debtors

Selling price

i

1,50,000
70,000
4 times
40,000

20% above cost

28) frafeRaa gemstt @ W fot. o gerteaen e feramor s -

[4]

feraon 2011 (X) 2012 ()
11 39 Uit 80,000 1,20,000
aa 24,000 20,000

FreehTeA HUT 1,00,000 1,20,000

I 2,04,000 2,60,000

[t Tt wrfaat 1,60,000 2,04,000
fafaa =R 20,000 40,000

Sk 99 24,000 16,000

I 2,04,000 2,60,000

Prepare comparative Balance Sheet of Ram Ltd. from the above information
Particulars 2011 () 2012 (X)
Liabilities: Share capital 80,000 1,20,000
Reserve 24,000 20,000

Long-Term Loan 1,00,000 1,20,000

Total 2,04,000 2,60,000

Assets : Fixed Assets 1,60,000 2,04,000
Sundry Debtors 20,000 40,000

Bank Balance 24.000 16,000

Total 2,04,000 2,60,000

29) Werg Witd o HaY | Afdeh YR W or@ieh fhd TR ok s 22 (i3 =R fag)

How the accounting of cash receipts can be done on ethical basis? (Any four

points).
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30) faferan for. i geaent ® Fferieaa To@md ura 6 e 2 [6]
oot 2010-11 2011-12
T 9 3 10,00,000 15,00,000
SRR Tard ;| 3 1,50,000
SRR T : 31 | 1,75,000 2,50,000
=Y o | e 1,60,000
e 3] a= 1,80,000 2,20,000

3 Tt 3 foru samaTfies ST Stterd SIUTd Us TR ST AT ht TuTT hifere) fesra woemw
25% %

KIOC)|
wfu for. &t geaent @ frenfora gl g € o- [6]
12%, 1,000 stfemm 319 gees X 100, 25,000 THar 319 Tk X 10 o ugend oA
% 1,90,000 wwar 3{9it R et gearn 40% Hr R Al
WIS IS o SR W = sgumt & o Fife < -
D) uf siw e
i) wfe erw e
iil) TN A U

Following information have been obtained from the books of Nikita Ltd.

Particulars 2010-11 2011-12
Revenue from operations 10,00,000 15,00,000
Trade Receivables on 1% April 1,50,000
Trade Receivables on 31% March 1,75,000 2,50,000
Inventory on 1% April 1,60,000
Inventory on 31 March 1,80,000 2,20,000

Calculate Trade Receivables Turnover Ratio and Inventory Turnover Ratio for
both of the years. Assuming that profit on sales is 25%.
OR

Following information given in the books of Ruchi Ltd. :-
1,000, 12% preference shares @ X 100 each, 25,000 Equity shares @ X 10 each,
profit after tax X 1,90,000, Dividend paid on equity shares @ 40%.
Calculate following ratio on the basis of above information :
1)  Earning per share.
i)  Dividend per share.
i) Dividend payout Ratio.

Jgar/OR
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Qe - 9d

SECTION - B

24) wGfRIEIUT | 3T I FH B2 [1]

What do you mean by networking?

25) IR 3T W 3T I TS 37 [1]

What do you mean by user interface?

26) TSI H T8 Teh I ST <hl Ufshal AHENS| [2]

Explain process of creating a new workbook in Excel.

27) ok gk TTEAT H A i ESHT I HIN AT W T T THSA B2 [2]

What do you mean by "Moving and Copying Cells" in structure of Work Book?

28) TG HTFAT & TehRI o Iooid | [4]

Narrate types of Accounting Software.

29) SEREE A iR & TRl S aueEd| [4]

Explain types of Data base management system.
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30) T favero & sifaite wievite & v ©: Suart w e [6]
3er
Frifera uftfeufoa # wievie & crErer ® g2 w5 Tuensd - [6]
i) =t &

ii) 3T i TUAET
Explain any six uses of spread sheet except financial analysis.
OR
Discuss the application of spread sheet in accounting in following cases :
1)  Calculation of Expenses.

i)  Calculation of Income.

¢ ¢
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